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Time: 10 Minutes Paper English 5 (T-1) Total Marks: 10

Sth Month, 4th Week, 1st Day

Syllabus: Unit # 12: Pre-reading + Reading (Markhor is...than males), Pg 122
Joining words + Statement & Questions

Q.No.1. Choose the correct option. (€))
1. Markhor is the national animal of .
| (a) | Iran |(b)| India | (c) | Pakistan |(d)| Bangladesh |

2. The words which join other words, phrases and sentences are called:
|(a)| joining words |(b)| action words |(c)|describing words|(d)| entry words |
3. Did he come by bus or by train? The joining word in the sentence is:

(a)] did ()] by [(0)] or ()] train |
4. He worked hard could not stand fast.
|(a)| but |(b)| because | (c) | ) |(d)| and |

Read the following paragraph and answer the given questions.

There are three species of markhor found in Asia. It is known for its long and
curly horns. These attractive horns on males are nearly 63 inches long and on
females around 10 inches long.

S. There are species of markhor found in Asia.

[(a)] two [()] three [(0)] four (d)] five |
6. Male markhors are nearly inches long.

|(a)] 60 [(b)] 61 [(0)] 62 ()] 63 |
Q.No.2. Read the sentences and writes 'S' for a statement and 'Q' for a
question. @

e Markhor lives in mountains.

¢ How long can markhors live?

¢ What do markhors eat?

e Markhor is an endangered species.

Q.No.3. Join the sentences using the correct joining words. ?2)

*  She could not submit her plan she was very ill. (so, because)

e She is studying history culture for her assignment. (because, and)

Q.No.4. Use the following words in sentences. 1)
Words Sentences
found

bravery
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